

Apartment in Xemxija



Xemxija, North



€399,000

Reference No: 240231092-56

 Total Rooms: **7**

 Floor Area (m²) : **113**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Xemxija

XEMXIJA – GROUND FLOOR APARTMENT located in a quiet residential area enjoying side country views. The property comprises an open plan Kitchen Dining Living, 3 Double Bedrooms with the main having En-Suite, guest Bathroom, a Laundry room and 2 Balconies. This property is being sold fully modern furnished, ready to move into and Freehold. Ideal as a comfortable home or rental investment. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift
- ✓ Ceramic Floor
- ✓ Entrance Hall
- ✓ Soffit Ceilings
- ✓ PVC Piping
- ✓ Skirting
- ✓ Satellite / TV/ Cable
- ✓ Kitchen/Dinette
- ✓ En Suite
- ✓ Electricity Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 7.02 x 5.2 m (36.5 m²)
- ✓ Double Bedroom : 4 x 3.22 m (12.88 m²)
- ✓ Double Bedroom : 5.54 x 3.27 m (18.12 m²)
- ✓ Double Bedroom : 3.97 x 3.78 m (15.01 m²)
- ✓ Laundry : 1.5 x 1.5 m (2.25 m²)
- ✓ Bathroom : 2.21 x 1.89 m (4.18 m²)
- ✓ Bathroom Ensuite : 3.27 x 1.9 m (6.21 m²)
- ✓ Hallway : 6 x 1 m (6 m²)
- ✓ Open Space : 3.22 x 1.2 m (3.86 m²)
- ✓ Open Space : 3.22 x 1.2 m (3.86 m²)

Gallery







Mauro DeFlavia

RE/MAX Centerparc - Qormi

M: 79604060

E: deflaviam@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta